REEE S S O A
LS A
Az o TH
Bt A AT | B TIR | R

£ | wmEmRAR O 100,949| 95,581 5, 368
B | Em@xmE © 95,551| 90, 224 5, 327
FREBESIER (3)=1) — (@) 5, 308 5, 357 41
B emsismac @ 0 0 0
#%
B R 6 550 2,400 A 1,850
MRS (6) = (4) — (5) A 5500 A 2,400 1,850
% ZOMmOTHIAG (1) 9, 288 3, 157 6, 131
é £ OMOBHLIE () 14, 838 6, 850 7,988
L OMOTEBLLER (9)=(T7) — ) A 5,550 A 3,693 A 1,857
Tt (10 11,441 11,407 34
— -
éﬂﬁg(i?ji%?ﬁﬁf ”<+6> + (9) —(10) A 15 1a8) B 1 s 0
WK G I AR (Be)  (12) 12,143 12,143 0
SRESPCGESES  (13) =11 —(12) 0 0




RN 4 HRE Y A &

HAL - TH
il 7 PN S B4R T % LR 1§ %
X JI'UN 2, 554 2, 629 A 75
i RS N 2, 140 2,223 A 83|@s00
g SSIE=:UESE =g PN 134 126 8l@1, 500
E HE AR Al N 280 280 0|@s, 000
5| | FFHEIA 500 500 0
”é RN ON 500 500 OfiEA - EEHAT - @S - VIES
TR R B A B A I 65, 939 62, 715 3, 224
A &I 61, 684 58, 571 3,113
— fIE B AR B AU 42, 150 38, 623 3, 527 [ A% « SRIGHNT & « MU AT Bh 3
NI T 4 T2 —EE MBI A 1, 699 2, 000 A 301
INHIE R > BT — 7 HERE S B A BB 13, 629 13, 629 0
H & AETE B SR BB A 3, 433 3,419 14
i AE R B 2 BB A A 773 900 A 127
Fe[A) S AL 5y 4NN 4,195 4,074 121
— RSy AN 2, 180 2,030 150
AR T2 B WO EL S A A 2,015 2, 044 A 29
RGN 60 70 A 10
KRB RF AR Ak 2 Bl i 2 U 30 40 A 10
Z DAl BRI 30 30 0
ZRESINA 28, 331 25, 797 2, 534
SRR PN 11, 493 8, 985 2, 508
A& AETE B SR F R RN 6, 866 6, 838 28|@10, 299, 000 x 2/3
BT EZ IR 4, 627 2, 147 2, 480 | EIF R AL SR I Ty - HH L - Wl

_9_




BAL - TH

x| & /A e S BITAE T B BRI 1§ -
M52 FEA A 16, 838 16, 812 26
i i KT T 4 T RRFHEZ BN 552 552 0
g FHFR S PR 32 RE &I 16, 066 16, 010 56
E N R R A S R 220 250 A 30
FAE = N 2, 643 2,928 A 285
" AN 245 330 N 85| EE R T AT IHER D E DRI
FIABHA 2,198 2,098 100|345 « Bt 2 - HiA R+ AHAECERE
JRABHIUA 200 200 0|44y
I A 0 300 A 300
AHAIA 100 100 0
L=EERSIPN 100 100 0
PEER AL — BRI A 600 600 0
ERVETE- € IUN 600 600 0
AL ST S AE=dVUN 600 600 0
=G ISVARE PN 212 212 0
SNV N 2 2 0=
Ak A s BRI R AL 24 A A 201 201 0| - =45
RT T 4 T H S HE ALY A 1 1 0|
TRRAG - FE N A P 2 BORI AL 24 A A 1 1 0=
R R 2 = SR T A 52 ORI S 24 A A 1 1 0|
T U PEAR VL4 ORLE L X A 1 1 0| H#
s it I AT ST 452 ORI S B 24 4 A 3 3 0|
F T AE N4 BORLE B Y A A 1 1 0|
S FERBRTE BORE N7 A s IR E B Y A A 1 1 () et




BAL - TH

x| N REETEE | AEETES HH wiN=
Z DDA 70 100 A 30
HEUA 70 100 A 30
FEEBAG (1) 100, 949 95, 581 5, 368
HAL - TH
x| - REETHE | AR THAE H A wE=
N 70, 940 64, 620 6, 320
= Tk B et 3 41, 441 40, 436 1,005
5%— T B S H 35, 049 33,948 1, 101 |8 - (EHHE
2 TR B 24 3 6, 392 6, 488 A 96|IE - LIIIRE
£ T E B 5 3 13, 633 10, 828 2, 805 |kEL - (L1 E
@ I WIS 5 5, 132 3,236 1, 896|aataiikE - 7 h Yt — - FaEmRE
¥ URIE Tk B S 0 0 0
VR S 10, 734 10, 120 GLA|RRE - (LI RIRRE - SRR
EES S 14, 525 15, 288 A 763
it a4 S H 325 195 130|# 77747 BARaIE - b k2 B 2 BR st
e e Az S 250 280 A 30
ek B e #e S 65 75 A 10|E
Z B E B 185 205 A 20|57 77T e S




BAL - TH

x| /A e S B4R T B4 BRI 1 -
THFERS B 2 S 1, 480 1,523 A 43
= W 1310 1383 A 73 &%?%7&1%2; FETRFEM - MR B - WX IR AL
§ s ELf a2 S 170 140 30 [ % Baf%
L)) FIRIBLA 2 52 344 335 glzr—n b
¥ IRGE e EER S H 0 0 0
ﬁ B ST 835 625 210|aHEat sl - 5 U
% T2 S 120 120 0|25 A i
W1E TE A S 838 855 A 17| - Bk 9T - fn Y - A
LB 178 218 A o[BS WL RS T T
JR R S 1, 140 1, 140 O [KEWs « & 7470/ i- IR - S53A - BT R0k
S E ST San 5, 497 5, 890 A\ 393|f6f - I - L - SRS - SR
PRAFRE S H 310 308 A RVENDE S Y
FHB S 141 76 G5 [fRiA, <V v akES  FHOR
{RBRBEE 882 1,063 N A e
BB S 1, 204 1, 200 A4 - o — - Xy 3
WHERF 5T E 3 640 1,023 A 383|KFrTF 4T
W 100 101 A 1|0k v BEREAERSE
=y G 10 0 10|V Haskspk s
il R S HY 209 314 A 105| &%
M S 22 22 0
HHE 3, 056 3,074 A 18
T A A 3 441 424 17 (36520 - fRER T - SCEMMIER
Jit Az 3 180 180 0|&E - B - KA




BAL - TH

x| & /A ARAEHE T LA BITAE T B LRI 1 -
WHERFZEE: 3 30 30 O|aES - RES - &E - A
% THFE 2 ELfi S 2 3 100 100 0
§ SRR 2 S 100 100 0] s
) I il AR 2 S H 30 30 0 |fE S
OE et 3 50 20 30
%) G R S 130 130 O|Ffa - ST ES - Bha - MR R
13'; By SAaN 40 40 (0] EEE = 1= B
S E - A 1, 100 1, 225 A 125|BiEL - 4+ - B AR
FHCB 85 55 30 [ BT Rkt - 54 Tkt
PRIFRE S HY 300 270 30| B p
PRSFRE S 260 260 0|&3 - 4 - BEGEE Y 2V 7 |
WA S 250 250 0|ws: - BEmE
il FPBE S HY 40 40 0|k
HEE S 20 20 O [ A 5
Bl R4 3 HY 6, 617 6, 829 A 212
Bh Rl 3 6,617 6, 829 A 212
H X HEZE B B Rl S HY 4, 663 4, 790 A 127/ R o b - fEk i e g
SESER LA 1,137 1,174 A 37
ek h e E Bl a4 S 350 350 O [fEdkt ke 107Nk
R VT 4 TIEB LR A 128 128 0|0y o o T T e
Y SRR B R B R 3 80 130 A\ 50|k e
RAZ: B Wik B Rl & S HY 259 257 2




BAL - TH

i N RAEETEA | AT R HoBsIR i
£ 4843 Y 413 413 0
4843 H 413 413 O |Frettiy s
KEAHLE S 0 0 0
SCHHLB S 0 0 oA - = —2 58
FREBIE (2) 95, 551 90, 224 5, 327
FEREBEAINIEE 3) = (1) — () 5, 398 5, 357 41
HAL 2 TH
e N REETHA | AT HEABE fi
% MR I E (4) 0 0 0
|| R R P IS 3 550 2, 400 A 1,850
% R LI 5 0 1,200] A 1,200
% | X Ao H M OV i BUAS: 32 H 550 1, 200 A 650[xv=r2h
Ul [ oo ma S L5 X 0 0 0
o 1 4R LN 3L T 0 B RA A S 1 0 0 0la—> 5t
X MR RS S R (5) 550 2, 400 A 1,850
MR Bl EE SN A (6) = (4) — (5) A 550 A 2,400 1, 850




BAL - TH

TR 0 AEETHE | aEETRE HLeH i
HE TN 1,300 3,157 A 1,857
ﬁg o M AR EE R A 0 0 0
i {5 5t BB AR ST PETBURR A 550 2,133 A 1,583
: o R N PE A 750 1,024 A 274
% Z D OTEBILAG (7) 1,300 3, 157 A 1,857
HAL : TH
[ n REETHE | AT S HAHI ™
AT PE S 602 602 0
ik A A N P S 501 501 0
= BT VT 4 T BRSO 101 101 0
| | B 5, 448 5, 448 0
g B3 B R 2 FEERENLE PE S 301 301 0
- T8 FH B PERE ST B PE S HY 1,001 1,001 0
; T e AN T X 903 903 0
s A PR 1 1 0
S FERPTT EYRE L E S 1 1 0
ARG 55| 4 B YL 7E S 3,241 3, 241 0




BAL - TH

Kl N AT AP T S L i
o [EomomBIC & B3 800 800 0
2 X | R SR H 800 800 0
% H A — & 2 F FE BRI TR 0 A H 800 800 NESSETIN
X Z O OTEB X HEE (8) 6, 850 6, 850 0
E ZOMOFEBE SN L EHE 9) = (1) — (8) A 5,550 A 3,693 A 1,857
Tl X (10) 11, 441 11, 407 34
YIRS EEAE (1) = 3) + (6) + (9 — (10) A 12,143 A 12,143 0
RIHR KBS (Blide) (12 12, 143 12, 143 0
VIR &SRR (13) = (11) + (12) 0 0 0




REEE S S O A
LS A
Az o TH
Bt A AT | B TIR | R

£ | wmEmRAR O 100,949| 95,581 5, 368
B | Em@xmE © 95,551| 90, 224 5, 327
FREBESIER (3)=1) — (@) 5, 308 5, 357 41
B emsismac @ 0 0 0
#%
B R 6 550 2,400 A 1,850
MRS (6) = (4) — (5) A 5500 A 2,400 1,850
% ZOMmOTHIAG (1) 9, 288 3, 157 6, 131
é £ OMOBHLIE () 14, 838 6, 850 7,988
L OMOTEBLLER (9)=(T7) — ) A 5,550 A 3,693 A 1,857
Tt (10 11,441 11,407 34
— -
éﬂﬁg(i?ji%?ﬁﬁf ”<+6> + (9) —(10) A 15 1a8) B 1 s 0
WK G I AR (Be)  (12) 12,143 12,143 0
SRESPCGESES  (13) =11 —(12) 0 0




	R04_yosansho_soukatuhyou.pdf
	R04_yosansho
	R04_yosansho.pdf
	R04_yosansho_soukatuhyou


